(0 @) (rad)

107% L1

- |44

1

2 3
TPlpoT (PCA t%obeamliné[f)

=
<

-1

o
O(n

)
9
o
2
S
cro—nbull el el
kS r : :
[vd C :
1_— ------- B O D ------------
10 0? . 10°
TP, (PCA t% beamllnef)

1

—s=— DQM_V0001_R000000001__Global__mkFiti100__RECO
—— DQM_V0001_R000000001__Global__mkFitALLCHAi100__RECO

SICEWATL

107}

0.95

o p/p.)

[any
<
i

103+

Ratio

iy

0.95
1071

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

= 1

£

e

>

=X

5

01—l bl il

g1 : :

[ :
| R RN E D e

0.95— :2 5

10 ! TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


